Geometry
Area, Volume & Surface Area

“. ¥ Brayden is wrapping a gift 2 3 48060008
for his friend’'s birthday. He
uses a square box with a
length, width and height of 6
inches (15 cm). What is the
volume of the box?

)

n'- -y

(fouch the image to enlarge)

cubic inches

Touch for Solution

[Imperialj

S 1234567890




o o000 @ Area, Volume & Surface Area

A speed limit signh has a
length of 24 inches (61 cm)
and a width of 18 inches

(46 cm). What is the area
of the sign?
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and a helghi of 2 mches

(5 cm). What is the surface
area of the brick?
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